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dqy iz’uksa dh la[;k % 26 dqy i`"Bksa dh la[;k % 12 

Total No. of Questions: 26 Total No. of Pages: 12 

gk;j lsds.Mjh ijh{kk] fnlEcj & 2017gk;j lsds.Mjh ijh{kk] fnlEcj & 2017gk;j lsds.Mjh ijh{kk] fnlEcj & 2017gk;j lsds.Mjh ijh{kk] fnlEcj & 2017    

150 

fo"k; %fo"k; %fo"k; %fo"k; % mPpmPpmPpmPp    xf.kr xf.kr xf.kr xf.kr     

Subject:  HIGHER MATHEMATICS     

(Hindi & English Version) 

le; % 03 ?k.Vs  iw.kk±d % 100 

Time : 03 Hours  Maximum Marks : 100 

    

funsZ’k %&funsZ’k %&funsZ’k %&funsZ’k %&        
    (i)    lHkh iz’u vfuok;Z gSaAlHkh iz’u vfuok;Z gSaAlHkh iz’u vfuok;Z gSaAlHkh iz’u vfuok;Z gSaA    
    (ii)    iz’u i= esa nks [k.M fn;s x;s gSa [k.M ^^v^^ vkSj [k.M ^^c^^Aiz’u i= esa nks [k.M fn;s x;s gSa [k.M ^^v^^ vkSj [k.M ^^c^^Aiz’u i= esa nks [k.M fn;s x;s gSa [k.M ^^v^^ vkSj [k.M ^^c^^Aiz’u i= esa nks [k.M fn;s x;s gSa [k.M ^^v^^ vkSj [k.M ^^c^^A    

 (iii)  [k.M ^^v^^ esa fn;s x;s iz’u Øekad 1 ls 5 rd oLrqfu"B iz’u gSaA izR;sd [k.M ^^v^^ esa fn;s x;s iz’u Øekad 1 ls 5 rd oLrqfu"B iz’u gSaA izR;sd [k.M ^^v^^ esa fn;s x;s iz’u Øekad 1 ls 5 rd oLrqfu"B iz’u gSaA izR;sd [k.M ^^v^^ esa fn;s x;s iz’u Øekad 1 ls 5 rd oLrqfu"B iz’u gSaA izR;sd 

iz’u 5 vad dk gSA iz’u 5 vad dk gSA iz’u 5 vad dk gSA iz’u 5 vad dk gSA     

 (iv)  [k.M ^^c^[k.M ^^c^[k.M ^^c^[k.M ^^c^^ esa iz’u Øekad 6 ls 26 rd vkUrfjd ^ esa iz’u Øekad 6 ls 26 rd vkUrfjd ^ esa iz’u Øekad 6 ls 26 rd vkUrfjd ^ esa iz’u Øekad 6 ls 26 rd vkUrfjd fodYi fn;s x;s gSaAfodYi fn;s x;s gSaAfodYi fn;s x;s gSaAfodYi fn;s x;s gSaA    

 (v)  iz’u Øekad 6 ls 10 rd izR;sd 2 vad dk gSAiz’u Øekad 6 ls 10 rd izR;sd 2 vad dk gSAiz’u Øekad 6 ls 10 rd izR;sd 2 vad dk gSAiz’u Øekad 6 ls 10 rd izR;sd 2 vad dk gSA    

 (vi)  iz’u Øekad 11 ls 14 rd izR;sd 3 vad dk gSAiz’u Øekad 11 ls 14 rd izR;sd 3 vad dk gSAiz’u Øekad 11 ls 14 rd izR;sd 3 vad dk gSAiz’u Øekad 11 ls 14 rd izR;sd 3 vad dk gSA    

 (vii)  iz’u Øekad 15 ls 21 rd izR;sd 4 vad dk gSAiz’u Øekad 15 ls 21 rd izR;sd 4 vad dk gSAiz’u Øekad 15 ls 21 rd izR;sd 4 vad dk gSAiz’u Øekad 15 ls 21 rd izR;sd 4 vad dk gSA    

 (viii)  iz’u Øekad 22 ls 26 rd izR;sd 5 vad dk gSAiz’u Øekad 22 ls 26 rd izR;sd 5 vad dk gSAiz’u Øekad 22 ls 26 rd izR;sd 5 vad dk gSAiz’u Øekad 22 ls 26 rd izR;sd 5 vad dk gSA    

INSTRUCTIONS: -  

 (i) All questions are compulsory.    

 (ii) Question paper has two section- section ‘A’ and section ‘B’. 

 (iii) In the section ‘A’ Question Nos. 1 to 5 are objective type Each question carries 

5 marks. 

 (iv) In the section ‘B’ Question Nos. 6 to 26 has internal option. 

 (v) Q. Nos. 6 to 10 carry 2 marks each. 

 (vi) Q. Nos. 11 to 14 carry 3 marks each. 

 (vii)  Q. Nos. 15 to 21 carry 4 marks each. 

 (viii) Q. Nos. 22 to 26 carry 5 marks each. 
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[k.M [k.M [k.M [k.M &&&&^v^^v^^v^^v^    
SECTION - ‘A’ 

iz-1 fjDr LFkkuksa dh iwfrZ dhft, & ¼5½¼5½¼5½¼5½    

 (i)  vkafdd fof/k;ksa lEcU/kh flEilu fu;e ds vuqlkj lw= -------------------------------------------------gSA  

(ii)  vkafdd fof/k;ksa lEcU/kh leyEc prqHkqZth; fu;e ds vuqlkj lw= -------------------------------gSA 

(iii)  vkHkklh fLFkfr fof/k --------------------------------------------------------------------------------------------------------------------gSA  

(iv)  U;wVu & jSQlu fof/k ls 
2

5 ds fudV lehdj.k x2 – x - 5 dk ewy -------------------------------gSA 

(v)  U;wVu & jSQlu fof/k ls fdlh la[;k ^a’ dk oxZewy Kkr djus dk lw= ------------------gSA    

 Fill in the blanks: 

 (i) Related to the Numerical method, the formula by Simpson’s rule is …………………... 

 (ii) Related to the Numerical method, the formula by the trapezoidal rule is 

………………....................................... 

 (iii) Method of false Position is ………………………………………………………………….. 

 (iv) The root of the equation x2 – x – 5 near 
2

5  by Newton Raphson’s method is 

……………………… 

 (v) By using Newton Raphson’s rule for finding the square root of a number ‘a’ the 

formula is …………………………………………………. 

iz-2 lgh tksM+h cukb;s &           ¼5½¼5½¼5½¼5½ 

  LrEHk ^v^    LrEHk ^c^ 

 (a) =∫
b

a
dx (x) f      (i) ∫ +

b

a
 x)-b(a f   

 (b) =∫
a

0
dx (x) f      (ii) )x( f fo"ke Qyu gks  

 (c) =∫
b

a
dx (x) f      (iii) ∫ −

a

0
dx  x)(a f   

 (d) 0 (x) f  
a

a-
=∫ ,;fn    (iv) ∫ ∫+

c

a

b

c
 dx (x) f dx  (x) f  tgk¡ a < c < b 

 (e) ∫∫ =
a

dxxf
0

a

a-
, )(2dx (x) f  ;fn  (v) f (2a - x) = f (x) 

        (vi) f (x) le Qyu gks 

        (vii) ∫
π 2/

0
dx xcos  

 



[150]                                                         Page 3 of 12                                                     (2100)                   

 Match the correct pair: 

  Column ‘A’     Column ‘B’ 

 (a) =∫
b

a
dx (x) f      (i) ∫ +

b

a
 x)-b(a f   

 (b) =∫
a

o
dx (x) f      (ii) )x( f is an odd function 

 (c) =∫
b

a
dx (x) f      (iii) ∫ −

a

0
dx  x)(a f   

 (d) 0 (x) f  
a

a-
=∫ , if    (iv) ∫ ∫+

c

a

b

c
 dx (x) f dx  (x) f  where a < c < b 

 (e) ∫∫ =
a

dxxf
0

a

a-
, )(2dx (x) f  if  (v) f (2a - x) = f (x) 

        (vi) f (x) is an even function  

        (vii) ∫
π 2/

0
dx xcos  

iz-3 ,d 'kCn@okD; esa mÙkj nhft, &         ¼5½¼5½¼5½¼5½ 

 (i)  ;fn nks pjksa x o y ds chp] e/; Lrj dk ?kukRed lg & lEcU/k gS rks r dk eku 

gksxkA 

 (ii)  ;fn nks pjksa ds e/; lg &lEcU/k dk vHkko gks rks] lekJ;.k js[kk;sa gksaxhA 

 (iii)  ∫ + dx   x)cos (sin x  ex dk eku D;k gksxk\ 

 (iv)  dksbZ Qyu f (x) fcUnq x]  ij mfPp"B gS rks f11 (x1) dk eku gksxkA 

 (v)  x ds lkis{k log (sin x) dk vodyu gksxkA  

 Give answer in one word/sentence: 

 (i) If there is a middle level correlation between x and y, then value of r will be. 

 (ii) If there is no correlation between two variables, the regression lines will be. 

 (iii) What is the value of ∫ + dx   x)cos (sin x  ex
? 

 (iv) A function f (x) has maximum at the point x1; then the value of f11 (x1) will be. 

 (v) Differential coefficient of log (sin x) w. r. t x will be. 
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iz-4 fuEufyf[kr dFkuksa esa lR;@vlR; crkb, &         ¼5½¼5½¼5½¼5½ 

 (i)  
x

ex

dk x ds lkis{k vodyu 
2

x

x

)1x(e − gSA 

 (ii)  ;fn  a o  b nks vlajs[k lfn’k gSa rks  b  a  ba +≥+ - 

 (iii)  lfn’k jkf’k;ksa esa ;ksx dk Øe fofues; fu;e ykxw ugh gksrk gSA  

 (iv)  X-v{k dh fn’kk esa dk;Zjr~ lfn’k dh fnd~ & dksT;k,¡ 1] 0] 0 gksrh gSaA  

 (v)  fcUnq P (x, y, z) dh XY – lery ls nwjh 222 zyx ++ gksxhA 

 Write True / False in the following statements. 

 (i) Differentiation of ex/x. w. r. t. x is 
2

x

x

)1x(e −
. 

 (ii) If  a and  b  are non coplanar then  b  a  ba +≥+  

 (iii) Vector addition does not obey commutative law. 

 (iv) Direction cosines of X axis is 1, 0, 0. 

 (v) Distance of the point P (x, y, z) from the plane – XY is 
222 zyx ++ . 

iz-5 lgh fodYi pqudj fyf[k, &         ¼5½¼5½¼5½¼5½ 
 (i)  fcUnq ¼3] 2] 5½ dh X & v{k ls nwjh gS &  

  (a) 28      (b) 29  

  (c) 30      (d) 3 

 (ii)  ;fn P vkSj Q ds funsZ’kkad ¼1] 2] 3½ rFkk ¼&1] 2] 1½ gSa rks PQ ds fnd~ vuqikr   
gksaxs &  

  (a) -2, 0, 2    (b) -2, 0, -2 

  (c) 2, 0, 2    (d) 2, 0, -2 

 (iii)  ewy fcUnq ls lery 6x – 3y + 2z + 14 = 0 dh nwjh gksxh & 
  (a) -2     (b) 3 

  (c) 2     (d) 4 

 (iv)  ;fn tan-1 a – tan-1 b = tan-1 x gks] rks x dk eku gS &  

  (a) 
ba

ab1

+

−
    (b) 

ba

ab1

−

+
 

  (c) 
ab

ba

−

+

1
    (d) 

ab1

ba

+

−
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 (v)  
)2x( x

1

+
dh vkaf’kd fHkUu gksxh & 

  (a) 
2 x

1

 x

1

+
−     (b) 






+
−

 2x

1

 x

1
 

2

1
 

  (c) 
 x

1

2 x

1
−

+
    (d) 

2x

1

 x

1

+
+   

 Choose the correct Options - 

 (i)  Distance of point (3, 2, 5) from X – axis is - 

  (a) 28      (b) 29  

  (c) 30      (d) 3 

 (ii)  If the co- ordinate of the point P and Q are (1, 2, 3) and (-1, 2,1) then direction ratios 

of PQ will be: 

  (a) -2, 0, 2    (b) -2, 0, -2 

  (c) 2, 0, 2    (d) 2, 0, -2 

 (iii)  The distance of a plane 6x – 3y + 2z + 14 = 0 from origin will be - 

  (a) -2     (b) 3 

  (c) 2     (d) 4 

 (iv)  If tan-1 a – tan-1 b = tan-1 x, then value of x is - 

  (a) 
ba

ab1

+

−
    (b) 

ba

ab1

−

+
 

  (c) 
ab1

ba

−

+
    (d) 

ab1

ba

+

−
 

 (v)  Partial fraction of 
( )

:is 
2 x x

1

+
 

  (a) 
2 x

1

 x

1

+
−     (b) 






+
−

 2x

1

 x

1
 

2

1
 

  (c) 
 x

1

2 x

1
−

+
    (d) 

2x

1

 x

1

+
+  

 

[k.M [k.M [k.M [k.M & & & & ^̂̂̂cccc^̂̂̂    

SECTION - ‘B’ 

iz-6 lfn’k k̂ 4  ĵ2 - î3 +  rFkk k̂ 5  ĵ - î + ds chp dk dks.k Kkr dhft,A       ¼2½¼2½¼2½¼2½ 

 Find the angle between the vectors k̂ 4  ĵ2 - î3 + and k̂ 5  ĵ - î + . 
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vFkok@vFkok@vFkok@vFkok@OR 

 ;fn k̂ 3  ĵ2 - îa += ] k̂ - ĵ  ˆ2 += ib  vkSj  k̂  ĵ c +=  rc ]c .b .a[  dk eku Kkr dhft,A 

 If  k̂ 3  ĵ2 - îa += , k̂ - ĵ  ˆ2 += ib  and k̂  ĵ c += ,then find the value of ]c .b .a[ . 

iz-7 ml lery dk lehdj.k Kkr dhft, tks ewyfcUnq ls 9 bdkbZ dh nwjh ij gS rFkk lfn’k 
( ) k̂   ĵ  î ++  ij yEc gSA          ¼2½¼2½¼2½¼2½ 

 Find equation of the plane which is at a distance of 9 unit from the origin and perpendicular 

to the vector ( ) k̂   ĵ  î ++ . 

vFkok@vFkok@vFkok@vFkok@ OR 

 ml xksys dk lfn’k lehdj.k ,oa dkrhZ; lehdj.k Kkr dhft, ftldk dsUnz ¼2]&3]4½ 
rFkk f=T;k 5 gSA  

 Find the vector and Cartesian equation of the sphere whose center (2, - 3, 4) and       

radius is 5. 

iz-8 fl) dhft, dh lfn’k k̂ 5  ĵ3 - î2 + rFkk k̂ 2  ĵ2  î2 ++− ijLij yEc gS\      ¼2½¼2½¼2½¼2½ 

 Prove that vectors k̂ 5  ĵ3 - î2 +  and k̂ 2  ĵ2  î2 ++−  are mutually perpendicular. 

vFkok@vFkok@vFkok@vFkok@ OR 

 ;fn  6   a = rFkk  5   b = vkSj a  rFkk bds chp dks.k 30° gS] rks   b a × Kkr dhft,A 

 If  6   a = and  5   b = and angle between a and b  is 30°, then find  b a × . 

iz-9 ∫ dxxsecx 322 dk eku Kkr dhft,A         ¼2¼2¼2¼2½½½½ 

 Evaluate: ∫ dxxsecx 322
 

vFkok@vFkok@vFkok@vFkok@ OR 

 ∫ dx
x

xcos dk eku Kkr dhft,A  

 Evaluate:  ∫ dx
x

xcos
 

iz-10 ∫ + x2cos1

dx  dk euk Kkr dhft,A         ¼2½¼2½¼2½¼2½ 

 Evaluate: ∫ + x2cos1

dx
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vFkok@vFkok@vFkok@vFkok@ OR 

 dx 
xsin1

1
∫ −

 dk eku Kkr dhft,A 

 Evaluate: dx 
xsin1

1
∫ −

 

iz-11 ml xksys dk lehdj.k Kkr dhft, ftlds O;kl ds fljksa ds funsZ’kkad ¼2]&3] 4½ vkSj    

¼&5] 6] &7½ gSA            ¼3½¼3½¼3½¼3½ 

 Find equation of the sphere, coordinates of extremities of whose diameter are (2, -3, 4) 

and (-5, 6, -7).  

vFkok@vFkok@vFkok@vFkok@ OR 

 xksys  2x2 + 2y2 + 2z2 - 2x + 4y + 2z + 3 = 0 dk dsUnz ,oa f=T;k Kkr dhft,A 

 Find center and radius of the sphere   2x2 + 2y2 + 2z2 - 2x + 4y + 2z + 3 = 0 

 

iz-12 ,d js[kk v{kksa ds lkFk dks.k α, β, γ dks.k cukrh gSA fl) dhft, fd &      ¼3½¼3½¼3½¼3½  

 sin2α + sin2β + sin2γ = 2 

 A line makes angle α, β, γ with the coordinates axes, then prove that: 

 sin2α + sin2β + sin2γ = 2 

vFkok@vFkok@vFkok@vFkok@ OR 

 fl) dhft, dh fcUnq A,B,C ftuds funsZ’kkad Øe’k%  (3, -2, 4), (1, 1, 1) rFkk (-1, 4,-2) gSa] 

lejs[kh; gSaA  

 Prove that the points A, B, C whose coordinate are respectively (3, -2, 4), (1, 1, 1) and          

(-1, 4,-2) are collinear.  

iz-13 ;fn a  rFkk b  fcUnqvksa A rFkk B ds fLFkfr lfn’k gSa rc fcUnq C dk fLFkfr lfn’k Kkr 

dhft,] ;fn            ¼3½¼3½¼3½¼3½ 

 AB 3AC =  

 If a and b ,are the position vector of A and B respectively then find the position vector of a 

point C on AB produced such that – 

 AB 3AC =  
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vFkok@vFkok@vFkok@vFkok@ OR 

 f=Hkqt ABC esa Hkqtk BC dk e/; fcUnq D gSA fl) dhft, fd  

 ADACAB 2 =+  

 In ∆ABC, D is the midpoint of BD, Prove that  

 ADACAB 2 =+  

 

iz-14 ;fn lfn’k a vkSj b  ijLij yEcor gSa rks fl) dhft,&         ¼3½¼3½¼3½¼3½ 

    b   a   ba 
222

+=+  

 If vectors a and b  are mutually perpendicular then prove that: 

     b   a   ba 
222

+=+  

vFkok@vFkok@vFkok@vFkok@ OR 

 fl) dhft, fd v/kZo`r dk dks.k ledks.k gksrk gSA 

 Prove that the angle in a Semicircle is a right angle. 

iz-15 
2)x1(

x

−
dks vkaf’kd fHkUuksa esa foHkDr dhft,A         ¼4½¼4½¼4½¼4½ 

 Resolve 
2)x1(

x

−
in to partial fractions.  

vFkok@vFkok@vFkok@vFkok@ OR 

 
2)43(

13

+

+

x

x dks vkaf’kd fHkUukas esa foHkDr dhft,A 

 Resolve 
2)43(

13

+

+

x

x
into partial fractions.  

iz-16 fl) dhft, dh &           ¼4½¼4½¼4½¼4½ 

 tan-1 x – tan-1 y = tan-1 
xy1

yx

+

−
  

 Prove that – 

 tan-1 x – tan-1 y = tan-1 
xy1

yx

+

−
  



[150]                                                         Page 9 of 12                                                     (2100)                   

vFkok@vFkok@vFkok@vFkok@ OR 

 fl) dhft, dh & 

 
85

77
sin

17

8
sin

5

3
sin 111 −−− =+  

 Prove that – 

 
85

77
sin

17

8
sin

5

3
sin 111 −−− =+  

iz-17 ;fn y = x + tanx gks rks fl) dhft, dh &         ¼4½¼4½¼4½¼4½ 

 y2x2
x d

yd
x cos

2

2
2 =+  

 If y = x + tanx, then prove that  

 y2x2
x d

yd
x cos

2

2
2 =+  

vFkok@vFkok@vFkok@vFkok@ OR 

 ;fn gks] y = x sin x gks] rks fl) dhft, dh &  

 xsinxxcos2
x d

yd
2

2

−=  

 If y = x sinx, then prove that   

 xsinxxcos2
x d

yd
2

2

−=  

iz-18 ;fn ∞++= ................xlogxlogxlogy gks] rks         ¼4½¼4½¼4½¼4½ 

 fl) dhft, fd  
)1y2( x

1

 xd

dy

−
=  

 If ∞++= ................xlogxlogxlogy , then prove that 
)1y2( x

1

 xd

dy

−
= . 

vFkok@vFkok@vFkok@vFkok@ OR 

 ;fn y = a cos (logx) + b sin (logx) gks] rks fl) dhft, dh & 

 0y
dx

dy
x

xd

ydx
2

22

=++  

 If y = a cos (logx) + b sin (logx), then prove that  

  0y
dx

dy
x

xd

ydx
2

22

=++  
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iz-19 fl) dhft, fd x ds lHkh ekuksa ds fy, f(x) = x + sinx o)Zeku Qyu gSA       ¼4½¼4½¼4½¼4½ 

 Prove that the functions f (x) = x + sinx is increasing functions for all values of x.  

vFkok@vFkok@vFkok@vFkok@ OR 

 ,d xksykdkj xqCckjs dh f=T;k 10 lseh@lsdsUM dh ,d leku nj ls c<+ jgh gSA xksys ds 

i`"B {ks=Qy esa o`f) fdl nj ls gksxh tcfd mldh f=T;k 15 lseh gksA 

 The radius of a spherical balloon is increasing at the constant rate of 10 cm/sec. At what 

rate is the surface area increasing when the radius is15 cm. 

iz-20 fuEufyf[kr vk¡dM+ksa ls dkyZ fi;lZu dk lg&lEcU/k xq.kkad Kkr dhft,A      ¼4½¼4½¼4½¼4½ 

X 1 2 3 4 5 

Y 2 5 7 8 10 

  

 Find Karl Pearson coefficient of correlation from the following data: 

X 1 2 3 4 5 

Y 2 5 7 8 10 

 

vFkok@vFkok@vFkok@vFkok@ OR 

 fl) dhft, dh lglEcU/k xq.kk¡d dk eku &1 ls 1 ds chp gksrk gSA 

 Prove that the value of coefficient of correlation lies between -1 and 1. 

iz-21 fuEukafdr lkj.kh }kjk Xokfy;j esa 70 `ewY; ds laxr Hkksiky esa lokZf/kd mfpr ewY; Kkr 
dhft, &            ¼4½¼4½¼4½¼4½ 

 Xokfy;j  Hkksiky  

vkSlr ewY; ¼`½ 65 67 
ekud fopyu  2-5 3-5 

  
 nksuksa uxjksa esa oLrq ds nks ewY;ksa es lglEcU/k + 0.8 gSA  
 Find the maximum proper price at Bhopal corresponding to the price of `70 in Gwalior 

from the following data:  

 Gwalior   Bhopal 

Average Price (`) 65 67 

St. dev 2.5 3.5 

  

 Coefficient of correlation between the Price in two towns is + 0.8 
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vFkok@vFkok@vFkok@vFkok@ OR 

 fuEufyf[kr vkadM+ksa ls Y dk eku Kkr dhft,] tc x = 70] rFkk lg lEcU/k xq.kkad 0.8 

gS& 

 x  y 

Ekk/; 18 100 

ekud fopyu  14 20 

  

 Find the value of Y from the following data when x = 70 and coefficient of correlation is 0.8. 

 x  y 

Mean 18 100 

S.D 14 20 

 

iz-22 fl) dhft, dh nks lekUrj leryksa 2x – 2y + z + 3 = 0 rFkk 4x – 4y + 2z + 5 = 0 ds chp 

dh nwjh 1/6 gSA           ¼5½¼5½¼5½¼5½ 

 Prove that the distance between two parallel planes  2x – 2y + z + 3 = 0 and                     

4x – 4y + 2z + 5 = 0 is 1/6. 

 vFkok@vFkok@vFkok@vFkok@ OR 

 ml lery dk lehdj.k Kkr dhft, tks fcUnqvksa ¼1]&2] 4½ rFkk ¼3] &4] 5½ ls gksdj 

tkrk gS rFkk lery  x + y – 2z = 6  ij yEc gksA  

 Find the equation of the plane that passes through the points (1, -2, 4) and (3, -4, 5) and 

perpendicular to the plane x + y – 2z = 6. 

iz-23 fl) dhft, dh fuEu Qyu x = 3 fcUnq ij vlarr gS&         ¼5½¼5½¼5½¼5½ 

 








>

=

<

=

3,

3,3

3,3

)(
2 xx

x

xx

xf  

 Prove that the following function is discontinuous at point x = 3. 

 








>

=

<

=

3,

3,3

3,3

)(
2 xx

x

xx

xf  
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sin x

3xsin -5xsin 
   lim

0x→
 dk eku Kkr dhft,A 

 Evaluate: 
sin x

3xsin -5xsin 
   lim

0x→
 

 

iz-24 fl) dhft,% 
4xtan1

dx2/

0 2

π
=

+∫
π

         ¼5½¼5½¼5½¼5½ 

 Prove that: 
4xtan1

dx2/

0 2

π
=

+∫
π
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 fl) dhft,% 2
xsin1

dx

0
=

+∫
π

 

 Prove that: 2
xsin1

dx

0
=

+∫
π

 

iz-25 vodyu lehdj.k %          ¼5½¼5½¼5½¼5½ 

 
x

y
tan

x

y

dx

dy
+= dks gy dhft,A 

 Solve the differential equation: 

 
x

y
tan

x

y

dx

dy
+=  

vFkok@vFkok@vFkok@vFkok@ OR 

 vodyu lehdj.k % 0  x4xy2
dx

dy
)x1( 22 =−++  dks gy dhft,A 

 Solve the differential equation: 0  x4xy2
dx

dy
)x1( 22 =−++   

 

iz-26 nks /kukdkj ikls ,d lkFk Qsads tkrs gSaA igys ikls ij le la[;k ;k nksuksa dk ;ksxQy 9 
vkus dh izkf;drk Kkr dhft,A         ¼5½¼5½¼5½¼5½ 

 Two Cubical dice are thrown simultaneously. Find the probability of getting an odd number 

on first dice or getting the sum 9 on two dice.  

vFkok@vFkok@vFkok@vFkok@ OR 

 ,d FkSys esa 5 yky rFkk 7 dkyh xsansa gSaA nwljs esa 4 uhyh rFkk 3 gjh xsansa gSaA izR;sd Fksys 
ls 1 xasn fudkyh tkrh gSA izkf;drk Kkr dhft, fd & 

 ¼1½ ,d xsan yky o ,d xsan uhyh gks  
 ¼2½ ,d xsan gjh o ,d xasn dkyh gksA   
 A bag contains 5 red and 7 black balls. Second bag contains 4 blue and 3 green balls. 1 

ball is drawn from each bag. Find the Probability for - 

 (1) 1 red and 1 blue ball 

 (2) 1 green and 1 black ball  

----------------------------------------- 


